VYMHOXBTE JCCATHUYHBIC I[pO6I/I Ha OTpULATCIIbHBIC
CTCIICHH JCCATH.
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WUms: Jata: ___ Ouenka:___
1687,5 % 0.0001 = 8136, 1 % 0.01 =
4171,3 x0.0001 = 6898,5 % 0.01 =
2173,1x0.01 = 6412,6 % 0.0001 =
5739,1x0.01 = 7680, 1 x 0.1 =
5648,7 % 0.001 = 9389, 6 x 0.001 =
5038,4 x 0.001 = 9214,5 % 0.0001 =
8774,1x 0.1 = 9775 x0.01 =
7038 x 0.0001 = 2974,9 % 0.1 =
1615 x0.1 = 1648, 6 x 0.0001 =
3253,7%0.001 = 4227 x 0.1 =
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:P 21 VMHOKBTE necm:;fgz fﬂifiﬁa OTpHLATENBHBIE
Wms: Jata: __ Onemka:
1687,5 % 0.0001 = 0.16875 8136,1 x0.01 = 81.361
4171,3 x0.0001 =0.41713 6898, 5 % 0.01 = 68.985
2173,1x0.01 =21.731 6412, 6 x 0.0001 = 0.64126
5739,1x0.01 = 57.391 7680, 1 x 0.1 =768.01
5648,7 % 0.001 = 5.6487 9389, 6 x 0.001 = 9.3896
5038,4 x 0.001 = 5.0384 9214,5 x 0.0001 = 0.92145
8774,1x 0.1 =877.41 9775 % 0.01 = 97.75
7038 x 0.0001 = 0.7038 2974,9 x 0.1 = 297.49
1615 x0.1 =161.5 1648, 6 x 0.0001 = 0.16486
3253,7 % 0.001 = 3.2537 4227 x 0.1 = 422.7
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